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Question 1 Let y(t) be the solution of the initial value problem
Not yet zy' —y=19(1) =2, theny(2) =
answered
Marked out of Selecf one:
3
O 3
¥ Flag
question O 0
O 2
@® 5

Clear my choice

Question 2 The solution of the L.V.P. ¢ = 2zy? + 3z%y2,
Not yet Y (_—1) = —8is defined on the interval
answered 2

Marked out of

3 Select one:

¥ Flag O (0,00)

question O (0’ 1)
® (—1,00)
O (—1,0)

Clear my choice
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Question 3

Not yet
answered

Marked out of
3

¥ Flag
question

Question 4

Not yet
answered

Marked out of
3

¥ Flag
question

The solution of the infegral equation

o(t) — fot e (7 ¢(1)dr = 1is

Select one:

O ¢(t)=1—¢
O ¢(t)=t—é€
® $(t) =1+t
O ¢(t)=1—t

Clear my choice

The LV.P. In(t — 1)y’ + 7y = csct, y(3) = 1is certain

fo have a solutfion in the inferval

Select one:
O (0,3)
O (0,m)
O (1,m)
® (2,m)

Clear my choice
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Question & The general solution of the differential equation
Not yet 29” — yr — Y= 0is
answered
Marked out of Select one:
’ O y(t) = cre 2 4 et
¥ Flag
question ® y(t) = Cle_tfz + cyet

O y(t) = c1€? + cpet

O y(t) = cret’? 4 cret

Clear my choice

Question & Let 1 and ya be two solutions of the differential
Not yet equation t?y” — (2t +t%)y’ +y =0, and
anwered W (y1,y2)(1) = e, then W(y1,32)(In2) =
Marked out of
N Select one:
V' Flag O In2
question

® 2(In2)?

O 2In2

O (In2)?

Clear my choice
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Question 7 A lower bound for the radius of convergence of series

Nof yet solution of the differential equation
answered (> — 22+ 2)y" + 2y’ +y=0nearzy = —% is

Marked out of

? Select one:
" Flag 5
question O %
O 5
V13
®© 5
O V2
Clear my choice
Question 8 , 1 0
A solufion of the system x° = X is
Not yet 1 2
answered

Marked out of
3

¥ Flag O x(t) = (

question

Select one:

— o
N
)
o
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Select one:
" Flag 5
question O %
O 5
O 2
Clear my choice
Question 8 , 1 0
A solution of the system X = Xis
Not yet 1 2
answered
Marked out of Select one:
3
¥ Flag O x t) )
question

(i
0= 1)
0= (0)°

(t)_( 1)&

Clear my choice
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Question 9 A particular solution of the differential equation
Not yet y" = 24t%is
answered
Marked out of Select one:
3

® Y(t) = 2t4
¥ Fag _
question O Y(t) =t +1

O Y(t) = 3¢

O Y(t) = 4t

Clear my choice
Question 10 The solution of the LV.P. 5% = y + yIn(¥), z > 0,
Not yet (1) —eis
answered Yy
SMGrked ouror Select one:
. ar

¥ Flag © y=xe
question O y=zlnz

\_J y — $26$

O y= $e“‘£

Clear my choice
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Question 11

Not yet
answered

Marked out of
3

¥ Flag
question

Question 12

Not yet
answered

Marked out of
&

¥ Flag
question
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The general solution of the differential equation

t2y" + 5ty +4y=0,t>0is

Select one:
O y(t) — it pept™

y(t) = cit 2 + cot 2 Int
():c1t2 + ept?
y(t) = cre” + ere

Clear my choice

The Laplace transform of the solution of the inifial value
problem y” + ty' +y =0, y(0) = 0, ¥’ (0) = 0 satisfies
the equation

Select one:
O 2Y(s) — sY'(s) = 0
O Y(s)+Y'(s)=0
® sY(s)—Y'(s) =
O Y(s) +sY'(s)

Clear my choice
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Question 13

Not yet
answered

Marked out of
3

¥ Fag
question

Question 14

Not yet
answered

Marked out of
3

¥ Fag
question

A certain object initially at 50°F is put info a 375°F oven.
Using Newoton's law of heating
u'(t) = (In5)(375 — u(t)), the temperature of the

objectatt=11s

Select one:
O 375°F
@® 310°F
O 365°F
O 315°F

Clear my choice

The Laplace transform of the function

t, 0<t<l
o Ciel
7 {1, RO

Select one:

—~ 14e~*
I\ J —_—
s
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R 3 + 32

O 1+ &
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Question 15 Let y(m) = ZZO:U a,x" be the series solution of the initial
Not yet value problem y” + (cosz)y’ +y = 0, y(0) = 2,
answered

y'(0) =1, thenaz =
Marked out of
&

Select one:
V" Flag O 2
question -
O —1
1
® 3
o 1
O 5
Clear my choice
Question 16 One of the following is a solution of the initial value
Not yet problemzyy’ =1, y(1) =1
answered
Marked out of Select one:
3 _
O y= vinz? 2
¥ Flag _
question Oy=hz+1

® y=+vhnz2+1
O y=Iz?+1

Clear my choice
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Question 17 The Laplace transform of the function f(t) = ux (¢) sint
Not yet is :
answered
Marked out of B
: E
Ty _35
¥ Flag —“‘:2?
question
Ty 8_53
o241
o e
B s2+1
se 2"
s2+1
Clear my choice
Question 18 If Y (t) = v1(¢) cost + v (t) sint is a particular solution of
Not yet y" +y = sect, then v; (%) =
answered
Marked out of Select one:
3
® —In(2)
¥ Flag
question 0
O 1
oL
2
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Question 19 Let y(z) be the solution of the .V.P.
Not yet (2zy +1) + (22 + 1)y =0,y(1) =1, theny(3) =
answered
Marked out of Select one:
3
O 1
¥ Flag i
question O 2
@ 0
O 3

Clear my choice

Question 20 The solution of the LV.P. ¢" + 3 = (t — 1)uq(t), y(0) = 0,
Nof yet y’((]) =0is

answered

Marked out of Select one:

’ ® ((t—1) —sin(t — 1))uy(2)

¥ Flag

question O (t — sin t)ul (t)

O ((t — 1) +sin(t — 1))us(t)
O (t—1) —sin(t — 1)

Clear my choice
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Question 21 The differential equation (22 4 y2) + Q;C'g% =0is
Not yet
answered

Select one:
Marked out of
3 @ homogeneous and exact
¥ Flag O exact and separable
question _

O separable and homogeneous

O linear and exact

Clear my choice

Question 22 The general form of a por’riculcir solution of
Not yet y" —3y" + 3y —y= = telis
answered
Marked out of Select one:
’ O Y(t) = (At?® + Bt?)et
¥ Flag "
question Y(t) (At — B)e

® Y(t) = (At* + Bt?)e!

D Y(t) = (At? + Bt)ét

Clear my choice
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Question 23

Not yet
answered

Marked out of
3

¥ Flag
question

Question 24

Not yet
answered

Marked out of
3

¥ Flag
question

The Laplace transform of fot sinh(¢ — 7) sin(7)d7 is

Select one:
—~ 5
(32+l)2

R

51
a il
(s2+1)

Clear my choice

The general solution of the differential equation

y@ —8y" +16y=0is

Select one:
® y = c;e¥ + cyte? + cge % 4 cyte™

O y=cre 2 | cze® + c3sin(2t) + ¢4 cos(2t)

O y=c1e%® + cyte® + cyt?e® + cpe™

y = ¢1 cos(2t) + et cos(2t) + e3 sin(2t) + eqt sin(2t)

Clear my choice
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